EAGRAROBREERT — 2 N— ABISH —F

2020658168 (£) 2EER7H

1R REEEXY

RESF 4t HETE] b

‘ [Ri&] & ‘ [RERBB] — | Z (%) 1800 B

[A&4£] 1 7% :5,100,000 2 & :2,000,000 @ 33 :1,300,000 @ 4 3 :770,000 @ 5 % :510,000 A
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
ORI — 4 3 | D. L—> 1:47.2 3-3-3 |34.4| 846 | 3 470 | KEFEIE (EH)

1 gLy bI=TT b 54.0 =) -2 ) 455y k9575747
R:F4—=—TA4>nN7 b B:vA4xyvO0—F EvilLy RT7—L
= = 4 3 | fEAKH— 1:47.3 2-2-2 | 34.7| 83.5 | 4 460 | AFIEH ()

2(5|6|7X—7 4.0 (3/4) o) | EEBE
L:F=TA NN BRMNTFIYT AT J—HrTr—LA

I35 4 3 | HHEXER 1:47.4 7-6-6 34.2| 85| 9 492 | IRARRIL (35H)

311 |FI/3I770 54.0 (1/2) (-g) | PEAM

L7 hT—IEY B:TUT4 Ay F #E ER
= = 43 | BUEEHE 1:47.4 4-4-4 | 34.5| 82.5 | 2 428 | BMREA (i)

41812 aAMNTFTFT40R 54.0 (7E) +2) RIS

LNn—ErTvy— B:I7p EHEX2y K
S s . 4 3 | HLHAE 1:47.5 4-4-4 | 346|814 | 7 492 | EEAFIA ()

5 4| VZAMFRE-X 4.0 1/2) © | RERM

L:ANT =TI B XE—ATHT747T FRESS
A > B 3 | SHER 1:47.6 7-6-6 | 34.4| 80.3 | 1 436 | ERR (KH)

6 8 INA x 54.0 (172) (2) |EFEAF-LF T2 (#%)

L:Fs=TA2nNT N B:3Z27>a-) J—HrTr—LA
3 | M. FLA-\ 1:48.0 11-11-11 [34.2| 76.1 | 6 468 | BERFIME ()
7 o | A—RZILF ¥ —+ 54.0 2 1/2) 4 | B HAL-ZA-2
RZAEWN=T BT —-NAo1A HET7—L
N S 4 3 | HHE 1:48.1 12-12-12 [ 34.0| 75.0 | 5 433 | FHEEX (E#)
8l5l7| M7 >Y=XT7— 54.0 (3/4) © |AlL=>7
R:/G1UXN Bz TFs>7790 ik e}
N _ #o3 | HEREC 1:48.2 4-6-6 |35.0| 74.0 | 8 a4 | EFEH (EH)

9l7!/10 A3 .0 (1/2) 0 (B) IW77—~L

RARN—I>ThR—L BAA5AITAT NS
o 5 4t 3 | AFRK 1:48.9 9-9-9 [35.5|65.7 | 10 | 422 |HIIAK )
10[8[13| =22 54.0 @ (a) | B
:8— KR B:o1 T 11—kl BEZZY K
R I 4 3 | BEAKME 1:49.5 9-10-10 |35.8| 59.9 | 12 440 | MAKERF (3EH)
] 5lARyd-—TarlA 54.0 (31/2) © |I=EE #
A4 a9 Lvy BiRkyaA—F4T77F L e]
=EE f 3 | AlEED 1:49.6 1-1-1 | 37.4| 60.9 | 11 | 450 |fEBEESEE (i)
12| 7|11 £52.0 (3/4) (+2) | KILBEEE
R:T7RIL Y L—> BLRFqTaTH DOAMIG
5 4 3 | RLRK®E 2:00.2 13-13-13 [41.9| — 13 | 404 |EBHR (E#H)
EE e : e 1) (o | T
R:b—t>ya—4> B:IVEL>MNTIL— N _E4035
@ 71 L
) 47.2-35.0
NA> R4 L | 12.7-11.3-11.9-12.1-12.0-12.2-11.8-11.2-12.0
® I —F—EBIERL

12—7—

Pol=5r= 11-6,9(4,10,12) (1,8) (5,13)-2-7-3

G=57= 11=6,9(4,12) (1,10,8)13,5-2-7-3

41—+ — 11-6,9(4,12) (1,10,8)13,5,2,7=3

[ RN
B OB 9 610M 714K 6-9 770M e & 5-6 370M &R 1-6-9 74,190
1 B 9 220M 1-9 8,930 B & 6-9 2,200M B 9-6-1 236,300
6 260M 1-6 9,980M B H 9-6 4,090
1 2,200

ABRICOVTHRTEEERROODE, THEB LS,




